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Six persons A, C, Q, R, T, Y were born in six
different months January, April, May,
August, September, December of a year.
Three persons were born in between A and
Y. A was born before Y. No one was born in
between C and A. Two persons were born in
between C and R. T was born before Q.

BEecddd A, C, Q, R, T, Y Uh d¥ & Bg 3Tel9l-
31T AT STeTaqy, mﬂsr S, 3IEd,
fAd=R, W#ﬁawﬁmsﬁw#a‘w:ﬁr
AT afFadergv ATAFTI=A Y T Uga
EﬂTﬂTICﬁTA%aﬁHﬁ'ﬁm"rﬂdrﬂ sTel
gmmlcaﬁTRa:a"Erﬁa’r—zrﬁ-?rﬁargtreTl
Ta»'rrrJTQ#tlﬁTgarrenl
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Months
danua
April

Ma

August
September
December

23. Which of the following is not true
regarding Y?

(a) Four persons born between Cand Y
(b) R was born before Y

(c) Qis born immediately after Y

(d) Only Q was born between Y and R
(e) No one was born after Y

19. Who among the following was born in May?
(@)C(b)A(c)Q(d)T(e)Y

20. How many persons were born between A and Q?
(a) One (b) Three (c) Four (d) Two (e) None of these

21. How many persons born were before R?
(a) One (b) Three (c) Four (d) Two (e) None of these

22. Who among the following is the oldest?

() C(b)A(c)Q(d)T(e)Y |
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Nine persons P, Q, R, S, T, U, V, W and X are sitting around a circular table but not necessarily in
the same order. Some of them are facing the center and the remaining are facing opposite to
the center. All the persons are sitting at an equal distance between them. U sits third to the
right V. Two person sits between U and T who faces opposite to the center. Neither V nor T is an
immediate neighbour of P. W sits second to the left of P who faces the same directionas T. Q
sits immediate left of W. S sits third to the right of X who sits immediate right of R. S and X
faces the same direction. Not more than two person faces the same directions are sit together.
R and T, not immediate neighbours

At sIfFaP, Q, R, S, T, U, V, W 3R X T JaTR A & 9R1 3T 35 8, Afeher st 181 T 3l
A gl m#wmwa»za?rm%aﬁ?ﬂwnwaﬁ:aﬁﬁqﬂaﬁm#% o afea 3%
ATTAFH R BT U, v M A RIS vk THF AT aRa 3¢ e
qE g Reamat &1 ATy 3T T, p P Frpead TSR W, P % a1 W qHY T T
Fort BRI AE THF TAAT R A IRE. Q WHFSFTFdorE. s, X F e TN AT W)
do1¥, S R & S ardl doT. s 3N X T H@ FAT R4 HY A § | FAA et M AW 3eA@ A
¥ 3 ufFd v ary 78t 43 §| R 3T, Aeheaw w25 gt W’OO ‘
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Nine personsP,Q,R,S, T, U, V, W and X are
sitting around a circular table but not
necessarily in the same order. Some of
them are facing the center and the
remaining are facing opposite to the center.
All the persons are sitting at an equal
distance between them. U sits third to the
right V. Two person sits between U and T
who faces opposite to the center. Neither V
nor T is an immediate neighbour of P. W sits
second to the left of P who faces the same
direction as T. Q sits immediate left of W. S
sits third to the right of X who sits
immediate right of R. S and X faces the
same direction. Not more than two person
faces the same directions are sit together. R
and T, not immediate neighbours



http://www.mahendras.org/

SBI CLERK 2022 / /mmat 11:30 AM/ “

26. How many persons are sitting between X and P, when

counted from the left of P:.-’ PH I q I W X3 P&
7eq fraer cafea 33 &2

a) Two b) Four c) Three d) Five e) None of these

27. Who among the following sits third to the right of V?
ﬁmﬁﬁaﬁ#ﬁavﬂ:aﬁ#ﬁwwh%
a) Tb) W c) Qd) U e) None of these

28. Who is sitting adjacent to R?
R& 3THeeT HiT daT 87
a) Xb) S c) Vd) Both (a) and (b) e) Both (a) and (c)
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w 29. Four of the following five pairs are alike in a certain way
based on the given arrangement and so form a group. Which
of the following ones does not belong to that group?

&l ¢ YTEAT & IR W Araf@ad 99 F @ )
S8 T fARed alie & A 8 3R v §Hg o
%lﬁmﬁﬁa##mww#mﬁaaﬁ%?
a) QU b) PV c) SQ d) RT e) WP

30. What is the position of Q with respect to R?

R% Hegdl #H QT TUT FIT 87

a) 3rd to the left b) 3rd to the right c) 5th to the left d) 2nd to
the right e) None of these
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“arrange things in order” is coded as - “po gb ik mn”
“order for new things” is coded as - “po gb fc bv”

“new places to order” is coded as - “gb cq bv ra”

“places in unknown country” is coded as - “ de ra lf ik”

17. What may be the code for “ in country”? 14. What will be the code for “order”?
(a) If ik (b) de ik (c) po gb (d) either (a) or (b) (a) gb (b) fc (c) cq (d) ik (e) can’t be determined
(e) None of these

15. What may be the code for “things to vanish”?

(a) po cq hx (b) po vm ik (c) cq fc ik (d) either (a) or (b)
18. “bv” is the code for? (e) None of these
(a) things (b) new (c) arrange (d) places

(e) None of these
16. What will be the code for “ arrange”?

(a) gb (b) mn (c) cq (d) ik (e) can’t be determined
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24. A family consists of five members A, P, R, T, H. P is wife of A. R is the daughter
of A. R has only one brother T. H is daughter-in-law of P. How is H related to R?

UF GRER A 9T §GET A, PR, T,HEl P AF Gl g1 R, AS Tl §1 RFT
WW%@T%IHPQ%W%IHWWWH%73HTH#7

(a) mother (b) sister-in-law (c) daughter (d) daughter-in-law (e) none of these
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25. If the digits of the number “46752983” are arranged in increasing order form
left to right within the number, then how many digits will remain on the same
position after the applied operation?

Ife WEAT "46752983" F HHI H WEAT & Ay AT F AT g FA H
qafeyd fFaT STaT 8, @ &F) AT &F a7 fhast 3F FAT T W

Jear?

(a) Two (b) One (c) Three (d) Four (e) None of these
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26. How many meaningful words can be made by using letters ‘A’, ‘F’,
‘L' and ‘T’, keeping L as the first letter of the word?

LY 21eC FT YT HER @A g¢ 'A’, 'E', 'L' 3 'T' 3&RT T JANT
0% fhae HAQOT Qeg TATT T WA &7

(a) One (b) Two (c) Three (d) Four (e) None of these
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Point E is 15m east of point B. Point G is 20m north of point E. Point K is 10m east of point G Point M is

30m south of point K. Point P is 20m west of point M. Point L is 10m north of point P ﬁg

15 #iex ©& 7 31 g G, Eﬂ;zoxﬁamﬁ%lﬁg ﬁgeaﬂoxﬁaq-c’r
Mﬁ§K$3OFﬁETEf?I'UT gl g p, g M 20 T afRasw & 31 g L ﬁgtﬁ«‘ﬂm
Hiex 3w # g

27. If Point V is 10m east of point S and Point S is 10m
north of point L, then what will be the distance between

point E and V? Ifg ﬁ&s# 10+ tlﬂ'ﬂ'%ﬁ?
fag s, & Lﬂ-7103=ﬁ'3?|T a’rﬁgEaﬁTv$
dr &y FgT gref?

(a) 10m (b) 15m (c) 20m (d) 5m (e) 25m

28. What is the total distance between point B and L?

fog B3 L& e it For gt el 87
(a) 10m (b) 15m (c) 20m (d) 5m (e) 30m
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G K

29. If Point Z is 10m north of point M, then point what is the
distance between point E and 2? I ﬁg Z, ﬁg M& 10HT 3T
73 ar g ek z&F & fr g 77 372

(a) 10m (b) 15m (c) 20m (d) 25m (e) 30m

30. Point K is in which direction from point P? ﬁg K, ﬁg PH
fra faam & 87

(a) South (b) South-east (c) North (d) North-east (e) North-west

31. Four of the following five are alike in a certain way, and so
form a group. Which of the following does not belong to the
group? AFAAAT v & ¥ IR e AT ol & g9
¢, 3R sufav & @ag saa 81 Aefaf@a & @ i
g § wafta gt §7?

(a)P,L(b)P, M (c)G,E(d)L,E(e)G, B


http://www.mahendras.org/

=Y SBI CLERK 2022 / /BE8at 11:30 AM/
13534592872365273812184981247352489824

32. Which element is exactly midway between the seventh element from the left end and

sixteenth from the right end? &l |T dca 910 BR ¥ a4 3R g0 8R & Hldgd dcd &
S diT &7 872
(a) 8(b)2(c)5(d)6(e)7

33. How many perfect squares are there to the right of the fqurteenth element from the right
end?ﬁﬁﬁ*ﬁﬁﬁmmﬁﬁﬁq‘ﬁ'ﬁ%?

(a) Two (b) One (c) Three (d) Four (e) more than four

34. How many perfect cubes are there in the above arrangement, each of which is immediately
preceded by an odd number and immediately followed by an even number? 3WRNFd cIaEYT
# st qof w1 8, o9 @ 93F & 8% dga T fawH w&am HR &% 9g v WA
& 87

(a) None (b) Three (c) Two (d) One (e) More than three
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35. How many such odd digits are there in the given arrangement, each of which is
immediately followed and preceded by an odd number?

&l 75 9Ty # W fFdd favH I 8, OaH @ 93F & 3% 91 v fauw
&A1 87

(a) None (b) One (c) Two (d) Three (e) More than three

36. Which of the following element is 5th to the right
of 10th from the right end?

ﬁmﬁﬁaﬁ#ﬁamw@ﬁ#ma%

S ¥ 5ar 87
(@) 9(b)8(c)2(d)1(e)4
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a1 __d
There are six wallets A, B, C, P, Q and R, each containing different amount of money in it. Wallet B
has more money than wallet Q but less than wallet P. Only wallet R has more money than wallet
C. Wallet Q does not has the least amount of money. The wallet containing 3rd highest amount of

money has Rs. 3000, which is Rs.1000 more than the wallet which has 2nd lowest amount of
money.

BEdIAC A, B, C, P, Q 3T R E, a1 T Ucq® H A9T-H9 UTA B I B F I e Q
FMFIATE AfFT e P FA L Fad dlelc RF T dec CH IMF dATg I alec QA FA T
e TR 1gt &1 Had gad 2 TR a1 areie 7 ¥. 3000, S 37 dicie W 1000 97 AR §

o g@dt aed Far AR
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37. Which of the foIIowingUwaIIe’g has the least amount of money?
i@ # 9 59 arde & 998 F9 Ufr 8§72
(a)A(b)B(c)C(d)Q(e)P

3§. What may be the amount of money in wallet C?
gide CH fhast ufr g Tl g2
(a) Rs. 2500 (b) Rs. 2000 (c) Rs. 3500 (d) Rs. 2250 (e) Rs. 2100

39. What may be the amount of money in wallet B, if it has Rs. 250 less

than the wallet P? aTalc B & fha«l =1 8 Fd! g, I¢ 39% I
. 9¢U PH 250 HH?
(a) Rs. 2500 (b) Rs. 2750 (c) Rs. 3500 (d) Rs. 3250 (e) Rs. 2200

40. Which of the following is true regarding wallet P? didle P& 9 # ArafRf@a A &
FieT AT T 82

(a) Only wallet A has less money than wallet P (b) Wallet B has more money than wallet P

(c) Wallet P has 3rd highest amount of money (d) Wallet Q has more amount of money than P
(e) none of these
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(a)lf only conclusion | follows.

(b) If only conclusion Il follows.

(c) If either conclusion | or Il follows.
(d) If neither conclusion | nor Il follows.
(e) If both conclusions | and Il follow.

SBI CLERK 2022 / /mmat 11:30 v/ (@)

Statements: P<R<M:=L>0<V>Y
Conclusions: ILL > P I.O>R

Statements: A>B>D=F<E<(
Conclusions: LB > E II.D < C

Statements: A=E>D>C<F<B
Conclusions: 1.C< A INLA=C

Statements: F>N=0>P<K>T
Conclusions: L. K< F II. N< K
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Seven people viz. A, B, C, D, E, F and G lives in a building on seven different floors such
as ground floor is numbered 1, the floor just above is numbered 2 and so on till top
floor numbered as seven but not necessarily in the same order. There are less than
three floors above A. Only one person lives between C and A. G lives immediately
below D. D lives on an even number floor. B lives immediately above A. F lives above E.
F does not lives on the 5th floor. F does not lives on an even number floor.

AT e 3rgTd | T, &Y, @Y, 31, §, v 3R S G 3rer9r-3rerer AT W Uh SART A WA &
ﬁ#ﬁ:maﬁrmﬁ maﬁmﬁﬂaﬁrmz%aﬁtsﬁrmaﬁﬁmﬂaﬁrmm
¥ ARPT TR AL TP T A FH| A F IR AT X FA A & CIRAF AT Faa T
afaFd WAT R G, D & 8 I T§dT ¢ | D Ueh HH HEIT ITell ATl I @dT ¢l B, AFH Sk
FUIIEATR| F, E & FUT IZAT 21 F, 5a1 AfSTor I T8l T@AT &1 F Ueh H HEIT dTell AfoTel I

CEEGG IR
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Seven people viz. A, B, C, D, E, F and G lives in a building on seven different floors such
as ground floor is numbered 1, the floor just above is numbered 2 and so on till top
floor numbered as seven but not necessarily in the same order. There are less than
three floors above A. Only one person lives between C and A. G lives immediately
below D. D lives on an even number floor. B lives immediately above A. F lives above E.
F does not lives on the 5th floor. F does not lives on an even number floor.
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 Floors | Person 5. Four of the following five belongs to a group find tha4 ®.
one that does not belongs to that group?

frrfaf@d 9w & & IR wF wHF ¥ H6fta €, 98
AT HIAT ST 37 g ¥ FaAd 3 87

(a) CD (b) EC (c) FB (d) AB (e) GC

6. Who among the following lives on the top floor?

frfaf@a # ¥ sia ge@ 398 #Afca W war 2
(a) E (b) B (c) F (d) D (e) None of these

7. Number of persons lives above F is same as the number

of persons below __? Foh W Eﬁ'?ﬂﬁ' cgfaaar $r
&I ¥ A & affaar i T&ar & AT 872
(a) B (b) D (c) C (d) G (e) None of these
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8. How many floors are there above the floor on
which G lives?

oW #f9d W 6 TEdm &, 39% 3T fhde
#Afoa 872
(a) One (b) Two (c) Three (d) More than Four (e) Four

9. Who lives immediately below A?

A® F AT i Igar g2
(a) D (b) E (c) F (d) C (e) None of these
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A@3%4 ENMS8B8&6LDS®986QYZ17%RO

G¢2IBZU&K

10. Which of the following element is twelfth to the left of the twentieth element
from the left end of the given arrangement?

ffaf@a 7 @ Fl9 @1 dca & 1S gavryr F v SR F ¥ dca &
90 & dREd TI W g7

(a) 6 (b) & (c) M (d) S (e) None of these

11. If all the symbols are dropped from the series, which element will be
fourth to the right of the one which is twelfth from the right end?

gfe @it gl # s/@ar & ger Ryr e §, O i &1 dcq & OR
¥ TREd & g @ Atar Qe

(a) 9 (b) O (c) R (d) 7 (e) None of these
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A@B'%d- ENMS$SSB8&KO6LDS®986QYZ17%RO

G¢2IBZU&K

12. How many such numbers are there in the given series which are immediately preceded by a symbol

and followed by a letter?

& 1§ sEer # W fraet gEaw § ed &% e wE gdllE 30K 91 H uF W 82
(a) None (b) One (c) Two (d) Three (e) Four

13. Four of the following five are alike in a certain way and forms a group find the one that does not

belongs to that group?

frafaf@a o9 & ¥ IR v ARga alF & & A/ § 3R & gg 99a § 98 A
HIfST N 37 FHE ¥ AR 6 82
(a) 3E% (b) R#2 (c) M&$ (d) DIS (e) Y72

14. What should come in place of question mark (?) in the following series based on the above

arrangement? 34% NSM 6DL 8Q6 ?
3NFA STEEAT & IR W Arafaf@d y@ar A wedars Reg (?) & T 9T F471 37T

qIfgu?

(a) %OR (b) 72% (c) O%R (d) R%O (e) R%7
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Seven peopleviz. P, Q, R, S, T, U and V are sitting around a circular table having
equal distance between them. All of them are facing inside. P sits immediate
right of Q. Only one person sits between P and S (either from left or right). U
sits third to the right of S. T is an immediate neighbor of U. R sits second to the
left of V.

|Td #197 37ATAI P, Q, R, S, T, U R V T JATHR AT F IRI I FART g WSS B
3T M FTAG I A AR P, QF SF e dorgl P 3 s F AT Faear v
FTdord (@At IrgR)| U, s F e A Y T W dSTR I T, U FT
fead T 81 R, V & 919 W gAY T W a1 8
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Seven peopleviz. P, Q, R, S, T, U and V are sitting around a circular table having
equal distance between them. All of them are facing inside. P sits immediate
right of Q. Only one person sits between P and S (either from left or right). U

sits third to the right of S. T is an immediate neighbor of U. R sits second to the
left of V.
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15. If all the persons are arranged according to the alphabetical"

order in anticlockwise direction starting from P, then how many
persons position will remain unchanged (except P)? Ife wafi

IfFdAT S P YRH HId 80 JHATET 6T A qUiTshA &
IR eqafya fFam orar 8, o fraer cafadl 61 Rufy
FREfET W (P BEF)?

(a) Three (b) One (c) Two (d) None (e) None of these

16. How many persons sits between Q and U, if counted from
the left of Q?

Q¥ T & s W 3k uF AET Faa safFa 33 &7
(a) One (b) Two (c) Three (d) None (e) None of these

17. Who sits second to the right of T?
TF G @ gl T W &l a1 82
(a) P (b) Q(c) R(d) S (e) None of these
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18. Four of the following five belongs to a group find the one
that does not belongs to that group?

frfaf@a 9= & @ IR s 9qg 4 wefta 8, 9%
maﬁﬁmaﬁwmﬁmﬁaaﬁ%’?
(a) va (b) PV (c) RT (d) SU (e) TQ

19. Who among the following sits second to the left of the
one who sits 4th to the right of V?

AfRf@d 7 @ il vd e @ Y Taea W 3
fFd & 90 § qEY T W &7 872

(a) U (b) T (c) R(d) S (e) None of these
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20. Statements: Only a few lamps are bottles.
No bottle is ship.
Conclusions I. Some ships are definitely not
lamps.

II. All lamps can never be ships.
(a) Both I and II follow
(b) Either I or II follows

(c) Only II follows. 21. Statements: All bamboos are sticks

(d) Only I follow.

No bamboos is a fish.
(e) Neither I nor II follows

Conclusions: I. Some sticks are fish.
II. No sticks are fish.

(a) Both I and II follow

(b) Either I or II follows

(c) Only II follows.

(d) Only I follows.

(e) Neither I nor II follows
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22. Statements: Only a few wells are mats.
All pillows are mats.
Conclusions: I At least some pillows are wells.

1. All wells can never be pillow.
(a) Both I and Il follow

(b) Either I or Il follows
(c) Only Il follows.

(d) Only I follow.

(e) Neither I nor II follows
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There are ten persons are sitting in two parallel row such that five persons are sitting in
each row. A, B, C, D and E are sitting in row 1 and faces north and M, N, O, P and R are
sitting in row 2 and faces south such that persons sitting in row 1 faces the persons sitting
row 2. B sits immediate right of A. Neither A nor B sits at the extreme ends. Two person
sits between P and N. B faces the one who sits on the immediate left of P. M sits on the
immediate right of R. C sits at the end of the row. D sits on the left of E. D does not face R.

A AR IFd A T AFTSHIPR d3 & P yAs dFa A g afFads &1 A, B, C,
DIREIRT 1 AISE 3R I A INIFAGE IR M, N, 0, p3iRRUBFT2H IS T 3ilx
STRIOT Y 3T 3 HR A3 ¥ ufFT 1 ¥ S caftraat w1 @ 9fFa 2 F 3 afFagi Ao
NPT AFAF ISR AANAINRAABIRABRTWISTRI PIRNF A
AfFd 4 81 B, P F O a1 38 AfFa 1 A I7AT@ I M, RF SF A da181 ¢, GfFT &
HTHA ST D, EF a1 F3T 81 D T W R AT 3T 81 81
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There are ten persons are sitting in two parallel row such that five persons are sitting in
each row. A, B, C, D and E are sitting in row 1 and faces north and M, N, O, P and R are
sitting in row 2 and faces south such that persons sitting in row 1 faces the persons sitting
row 2. B sits immediate right of A. Neither A nor B sits at the extreme ends. Two person
sits between P and N. B faces the one who sits on the immediate left of P. M sits on the
immediate right of R. C sits at the end of the row. D sits on the left of E. D does not face R.
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23. Four of the following five belongs to a group find the on;'
that does not belongs to that group?

ﬁmﬁﬁawﬁ#aﬂww#mﬁa% 98 AT
a‘hﬁmsﬁwm#mﬁaaﬁ%’?
(a)O(b)C(C)D(d)P(e)N

24. Who among the following sits second to the left of the
one who faces B?

ferfaf@a & & #ia B & 3T 7A@ FfFT & T @
gAY T WX AT ¥?
(a) R (b) N (c) O (d) M (e) None of these

25. How many persons sits on the left of N?
N& a1 3T fhaa IiFa 8 &2

(a) One (b) Two (c) No one (d) Three (e) None of these
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26. How many persons sits between D and C?

D 3IX CF ALY fhast =afFa 343 §2
(a) One (b) Two (c) Three (d) No One (e) Can’t be
determined

27. Who among the following faces A?

frrfaf@a F & fFasr 7@ A#r 30T 872
(a) M (b) N (c) O (d) R (e) None of these
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28. IF ‘He will Say’ is coded as ’1 3 9’ and ‘Say To Him’ is coded as ‘35 2’ and
‘He May Do’ is coded as ‘8 7 9’ then what will be the code of ‘will’?

IfE 'He willSay' H "1 3 9' & T H Hifsd AT AT § 3 'Say To Him'
H '35 2 & T H Hf2d FAT A7 § 3 'HeMayDo'# '8 7 9' &
T A I A1 197 g, a@ '$T HIS FAT 29T ASir'?

(a) 3(b) 1(c)9(d) 8 (e) Can’t be determined
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